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1: 1 BEEIXCOBEIZEDLILWVDEISETHRELEL=D., Q1 What was the percentage of your attendance in
([BL-BHIZOVLTOEBI[About Yourself]) [ FIRK: 4 FR 1]

the course?

BEES B A s [BEFEIR|2FTYR
1 1. 100-90% 25 4 3.9 3.8
2 2. 80-70% 3 3
3 3. 60-50% 0 2
4 4. Less than 50% 0 1
A&t 28

2: B2 Hif-%, COBEISEZETICHBELEESXENLSLVTT D, Q2 What was the percentage of your
([ FI 2L THOEM][About Yourself]) [ FBIRK: 4 HR 1]

punctual attendance in the course?

BEES EIE A s [BEENR|2FTEYR
1 1. 100-90% 27 4 4 3.8
2 2. 80-70% 1 3
3 3. 60-50% 0 2
4 4. Less than 50% 0 1
a&t 28

3: 3 BECITEMNICHMYIBAELED. Q3 You actively participated into the course.([H1ET-B EIZDL\TOD

B R][About Yourself]) [ #IRK: 4 FR 1]

EEES | & A¥ s | SETEYR[£FFEYR
1 1. [58<Z 585 I(Strongly Agree) 11 4 33 33
2 2. 2585 1(Agree ) 14 3
3 3. IZ5 B H%i0VI(Disagree) 3 2
4 4. TE>1={F5 B 70V I(Strongly Disagree) 0 1
&=
a&t 28

4: 4 BREANDERF.ZREDIZA=F5—230%FEYELED,. Q4 You communicated with the lecturer(s) by
asking some questions or other in the course.([H%-BHIZDLVTHD BRI 1[About Yourself]) [ BIRK: 4 HEIR 1]

EEES EE] A# s | HETEYR[£FFEYR
1 1. T58<Z 585 I(Strongly Agree) 4 2.7 2.9
2 2. TZ58 I(Agree ) 11 3
3 3. [ 5B H7%L |(Disagree) 2
4 4. T FES1={ZF 5B D% I(Strongly Disagree) 6 1
At 28

5: 5 BEDEA#XEFEELLEL=D. Q5 You made good preparations about the course.([&7ZET-B HI[ZDL\T

D E)[About Yourself]) [ BIRHK: 4 HFiR 1]

EEES E& A# s | SEEYR[£FFEYR
1 1. I58<Z 585 I(Strongly Agree) 4 4 25 2.8
2 2. TZ585 I(Agree ) 11 3
3 3. 5B 7%l |(Disagree) ) 2
4 4. [ FES1=KZF5B D% I(Strongly Disagree) 5 1
At 28




6: 6 BEDEETFZELLLELED, Q6 You made reviews well about the course. ([HEF=-B HIZDWL\THE]

[About Yourself]) [ IR : 4 HIN 1]

E&EES B A# i | SBETEYR[£FFYR
1 1. 58<Z 585 I(Strongly Agree) 3 4 2.6 2.8
2 2. 2585 1(Agree ) 13 3
3 3. [Z5 B H70VI(Disagree) ) 2
4 4. [F-51={FS5BH7:0\I(Strongly Disagree) 3 1
&t 27

7:07 VINRET.BEOBM. AR, BESEMOEE(LBE I REINEL=H. Q7 The objective, contents,
criteria for the grades were appropriately shown in the syllabus or other. ([{2F L& B (=D TH ERE 1[About the

Lessons and Lecturer(s)]) [ iBIR=: 4 FR 1]

BEEES E& A# s |BEEYR[2FFYR
1 1. [38<Z 525 I(Strongly Agree) 5 4 3 33
2 2. 2585 I(Agree ) 20 3
3 3. 5B H7%iL v |(Disagree) 0 2
4 4. [F-51={FS5BH7:0\I(Strongly Disagree) 2 1
=111 27

8: s BEDODARILINADAREMIELTIVELT=H ., Q8 The actual contents in the lessons were

corresponding to those in the syllabus. ([#23 &% B (DL TH E R ][About the Lessons and Lecturer(s)]) [ ER= :

4EFR 1]
BEES EES A# s [BEENR|2FTEYR
1 1. T8 <Z 585 I(Strongly Agree) 8 4 3.2 3.3
2 2. TZF585 1(Agree ) 17 3
3 3. [Z5 B H7vI(Disagree) 3 2
4 4. [F-51={FS5BH70\I(Strongly Disagree) 0 1
At 28

9: 9 BERMBIEITLICHERINTNEL=N, Q9 The number of lessons was appropriately maintained. ([$%

EEHBIZOWTOERI][About the Lessons and Lecturer(s)]) [ 3Rz : 4 FIR 1]

BEES BB A iR [BEENR|2FTEYHR
1 1. [58<Z 585 I(Strongly Agree) 9 4 3.3 3.4
2 2. TZ2585 (Agree ) 18 3
3 3. [Z5 B H7%L I(Disagree) 1 2
4 4. [F->1={F5BH70\ I(Strongly Disagree) 0 1
|t 28

10 : 10 BERNBTOH 5 E(LEY) T, BETRELEE TL/=H . Q10 The contents was appropriate in terms of

difficulty. ([#B3 LZH BT DL TOHOE R ][About the Lessons and Lecturer(s)]) [ BIR=E: 4 HFiR 1]

BEES E&E AH¥ FiiR |HETEYNR|E£FFHR
1 1. [58<Z 585 I(Strongly Agree) 5 4 3 3.2
2 2. 2585 1(Agree ) 17 3
3 3. I #5B H%ilL v (Disagree) 4 2
4 4. T FE>71={F5 B 7%\ I(Strongly Disagree) 0 1
|t 26

11 : B BECHECPHENBEIBECFEATHELED, Q11 You
knowledge before the course.([{2E L& B IZDLVTOH &5 J[About the

had already learned the necessary prior

Lessons and Lecturer(s)]) [ BIRK: 4 FHiIR 1

]
BEES E&E AH¥ FiiR |HETEYNR|E£FFHR
1 1. [58<{Z 585 I(Strongly Agree) 6 4 2.8 2.9
2 2. TZ2585 (Agree ) 13 3
3 3. 5L I(Disagree) 7 2
4 4. T E->1={F5B 1%L\ |(Strongly Disagree) 2 1
it 28




12 : 12 HEEIFBEICIVMMOGRHEZT, SOICEETIRBFEPRATHEVLERLELE=D, Q12 You
would like to study the academic field related with the course by being intellectually stimulated. ([{2E &, EIZDULVT

D E M) [About the Lessons and Lecturer(s)]) [ :BiRzL: 4 FiR 1]

BEES Bk A s |SETEYR[£FFEYR
1 1. N58<Z 585 I(Strongly Agree) 7 4 3.1 3.1
2 2. TZ2585 |(Agree ) 18 3
3 3. 5 7L I(Disagree) 3 2
4 4, T E->1={F5B 1%L\ |(Strongly Disagree) 0 1
A&t 28
13 : B13 BERNBFXEFRTLED, Q13 The course was useful for you.([IBFEHB(CDOLVTHE
fE J[About the Lessons and Lecturer(s)]) [ :BiR=: 4 HIR 1]
BEES E1& A Fiim |SETEYR[£FFEYR
1 1. [58<Z 585 I(Strongly Agree) 7 4 3.2 3.3
2 2. TZ2585 I(Agree ) 19 3
3 3. [Z5 B 7L I(Disagree) 2 2
4 4, T E->1={F5B 1%L\ I(Strongly Disagree) 0 1
a&t 28

14 : 14 RiR. ABEE - FHRERSEEAITIREOEES. FLAHEIIHRMTLI=A. Q14 The blackboard, audio—
visual and/or IT equipments were effectively used in the case (if applicable). ([ & B IZDOLVTOHO BRI ][About the

Lessons and Lecturer(s)]) [ R : 4 FR 1]

EEES & A s |SETEYR[£FFEYR
1 1. N58<Z 585 I(Strongly Agree) 7 4 3.2 3.2
2 2. TZ585 I(Agree ) 17 3
3 3. 5B 7L I(Disagree) 2 2
4 4. [ FES1={ZF 5B D%\ |(Strongly Disagree) 0 1
a&t 26

15 : 15 THRRMOTUUMEEDHBMBHM FIREXABREER T HDIT/IBELI=M, Q15 The textbook and/or
other handouts were useful for you to understand the contents in the course.([}2E &LZE(ZDUV\THER][About

the Lessons and Lecturer(s)]) [ ZEBR=X: 4 FiR 1]

EEES | & A¥ s | SETEYR[£FFEYR
1 1. I38<F5 25 |(Strongly Agree) 8 4 3.3 3.3
2 2. 2585 1(Agree ) 19 3
3 3. IZ5 B H%ilVI(Disagree) 0 2
4 4. TE>1={F5 B 70V I(Strongly Disagree) 0 1
&=
a&t 27

16 : 16 /—FOAERIEEYDPTIh->1=TTH., Q16 It was easy for you to take notes in the course.([{ZE L8

122UV T DO ERE][About the Lessons and Lecturer(s)]) [ 3BIR=: 4 {ER 1]

BEES Bk A Fiim |BEEYR[2FFHR
1 1. [58<Z 585 I(Strongly Agree) 6 4 3.1 3.1
2 2. TZ2585 (Agree ) 18 3
3 3. 5B AL I(Disagree) 3 2
4 4. T FE>1={F5 B H7%0\I(Strongly Disagree) 0 1
|t 27

17 : B17 HEDOE. FLAIIEZEMYPT Mo=TFH, Q17 It was easy for you to hear the lecturer’ s voice and
the manner of speaking. ([ B LB IZDULVTH E R J[About the Lessons and Lecturer(s)]) [ :BIR=K: 4 FHIR 1)

BEES E&E AH¥ FiiR |HETEYNR|E£FFHR
1 1. [58<Z 585 I(Strongly Agree) 11 4 3.3 3.3
2 2. TZ2585 (Agree ) 14 3
3 3. 5B AL I(Disagree) 3 2
4 4. TE->1={F5B 1%L\ |(Strongly Disagree) 0 1
it 28




18 : fl18 BETEMINSEELERMNMBASATOEL=D, Q18 The lecturer(s) emphasized the important
points to be understood in the course. ([#23£ &ZBIZDULVTH E R ][About the Lessons and Lecturer(s)]) [ ER=K :
4FR1]

E&EES B A# s | SBETEYR[£FFYR
1 1. 58<Z 585 I(Strongly Agree) 9 4 32 3.2
2 2. 12585 1(Agree ) 16 3
3 3. [Z5 B H70VI(Disagree) 3 2
4 4. [F-51={FS5BH7:0\I(Strongly Disagree) 0 1
&t 28

19 : (19 HRRBBEEITBREADSM(FEELE)ZRL, BRWHBICTKAHIELTHELEZD, Q19 The
lecturer(s) responded to students’ questions and/or discussions by promoting their participation. ([{Z3ELEBIZDLY
THEREI[About the Lessons and Lecturer(s)]) [ :BiR=: 4 HIR 1]

BEEES E& A# Hiim |BEEYR[2FFYR
1 1. [38<Z 525 I(Strongly Agree) 4 3 3.2
2 2. 2585 I(Agree ) 11 3
3 3. [Z5 B H7vI(Disagree) 2
4 4. [F-51={FS5BH7:0\I(Strongly Disagree) 1 1
=111 28

20 : {20 HET=ITE->T. BEDEAFIIBEULEHDTLI=H, Q20 The way of proceedings was appropriate for
you. ([BELHEIZDOLVTDERE J[About the Lessons and Lecturer(s)]) [ EBIR=: 4 HR 1]

BEES EES A# s [BEENR|2FTEYR
1 1. [58<Z 585 I(Strongly Agree) 7 4 3 3.2
2 2. 12585 (Agree ) 15 3
3 3. [Z5 B H7vI(Disagree) 4 2
4 4. [F-51={FS5BH70\I(Strongly Disagree) 1 1
At 27

21 : [121 HEFITEST BEIEKRENEDTLI=D., Q21 The course was interesting for you. ([ B EHHIZD

LWTDOERII[About the Lessons and Lecturer(s)]) [ ZEBIRAK: 4 HFIR 1]

BEES Bk A Fiim |BEEYR[2FFHR
1 1. [58<Z 585 I(Strongly Agree) 9 4 3.2 32
2 2. 12585 1(Agree ) 16 3
3 3. [F5 B H%E L I(Disagree) 3 2
4 4. TFES1=KZS3B D% |(Strongly Disagree)4 0 1
=111 28

22 - 122 LBEICHTIHEDREZRLELID. Q22 You felt the lecturer’ s sincerity in the course. ([123 &%
BIZ2WLWTHOERI][About the Lessons and Lecturer(s)]) [ BIR=X: 4 HFIR 1]

EEES EE] A# s | SETEYR[£FFEYR
1 1. N58<Z 585 I(Strongly Agree) 9 4 3.3 3.4
2 2. TZ585 I(Agree ) 16 3
3 3. [Z5B 7L\ I(Disagree) 2 2
4 4. [ FES1={ZF5B D%\ I(Strongly Disagree) 0 1
At 27

23 : 123 LEpliIcHmLT, COBEICHRELELE=D. Q23 Comprehensively evaluating, you were satisfied with

the course ([1BE ELHBIZDOULVTHO BRI [About the Lessons and Lecturer(s)]) [ BIR=X: 4 HIR 1]

EEES E& A# s | SEEYR[£FFEYR
1 1. [&®<Z5E 5 I(Strongly Agree) 10 4 3.3 3.2
2 2. 2585 1(Agree ) 15 3
3 3. 25 B 7L\ I(Disagree) 3 2
4 4, [F-51={FS5BH7L\I(Strongly Disagree) 0 1
=11l 28




